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) AC=BD
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AB=CD,
/ABC = /DCB (7F4)

BC = &%
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whebd], A A2tg o) 5 j7pAlo] Aol e,

@O =, AABC = ADCB (ASA 35) |22 AC = AB o|t}.
@ =, AABC = ADCB (ASA 3H5) o]|2& AC = AD °|t}.
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3))=, AABC = ADCB (SAS 3H5) ©]22 AC = BD °]|t}.

@ =, AABC = ADCB (SAS 3%) o]B2=2 AC = AB °|t}.
(

® &, AABC = ADCB (SAS %) ©]2& AC = AD ©|t}.

/ABC = /DCB (7}4)
BC £ 3%

%, AABC = aADCB (SAS ?%) ©|2= AC = BD ©|t}.
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2 139 nABCD & AD//BC ¢ Atttel&oltt. %= tjzhAl 9]
4& 02 & 1, AABC = 50cm?, aADOC = 15cm? ©]t}, o] uf,

AOBC 9] Hol=?

A D
(0)
B C
@ 25cm? @)35cm? ® 45cm?
@ 55cm? ® 65cm?

AABC = ADBC 9|22 AABO = ADOC
" AOBC = 50 — 15 = 35(cm?)
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ADEC+E= AAIZI3o|B & x =4 + 4 = 80|t}




ol
S
o|J
ofg
Ko
ol

o

ojtt,

=
=

o7} gow it

—_
~ ~ o
N
o i
Q o = Y
N o o <
mE ~_.__.O_.O —~— =
o T
Mo = v b
Hpe S &
o — 1u| o ,_._mo
%o NN
ooy X
AN o =
T X BN
oo x M -
T m ol A d_m
Wvﬂ ,OI ,_._m_o 1jo P
i N X )
BRI o &
— N
T @ =
| T N

wMO_ULnnNo__o N
op o1 10 B o7 T 4y
ONOOOWOR




9. o 24 A M2 BC 9 $HY ©l, ADHC 9 Wol=?

@ 4cm? @ 8cm? @ 12cm?

@ 14cm? ®)16 cm?

AM € 719W, ADHM = AAMD ©|E 2,

ADHC = AAMC = %AABC =16 (cm?)




10. o2 2937} 22 HPAHYP ABCD A AE : DE = 2 : 30|12
AABE = 10cm? ¥ W], AEBC 9] {o|&?

A—E D
B C
@ 10cm? @ 12cm? @ 15cm?
@ 20cm? ®)25cm?

AABE + ADCE = %DABCD

AABE : ADCE =2:3
ADCE = 15(cm?)

. AEBC = %DABCD = 25(cm?)
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the 723 2 nf2 1 ABCD o4 AC = 8cm
,BD = 6cm , AD = 5cm ©|t}. o= 2 ABCD
ol Yo FHPE RS, M P oA Y Ho
i 4=49] dole] &<l PE + PF + PG + PH
o] ZAolE stz

vV V
02
L

S

oo

B

AB — BC = CD = DA = 5om |2
OABCD = APAB + APBC + APCD + APDA
%xsx6:§x5x(ﬁ+ﬁ+m+ﬁ)

- 4
~.PE+ PF + PG +PH = €8cm°]‘3]'.




1) /ABE = /AEB = a 2} 5},
/BAE = 180° — 2q ©] 11,

(CAE = 90° o] 2.2

/BAC = (180° — 2a) — 90° = 90° — 2a
ii) AB=AE = AC 9|2,

AABC £ o] 3HAZI ol

/BAC = 90° - 2 | B2,

1
/ABC = /ACB = 5 {180° - (90° - 2a)} = 45° +a

Iot /ABC = /ABE + /x ©| B2,
a+ /x=45°+a
CoLx = 45°

12. & O A oACDE & ZAZEd o)1 AABC = AB = AC
o|5w E,wogg o, zx o] 2715 Fotefz=t
A E
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C D
> = °
> =g 45°
A = E
B aw
C D
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gttt oADME €] W17t 10cm® & wf, ADBC ] ®o|E F-stofzt.
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A
D
> =
> =g 20

~&B )

DE // ACo|E& W7} t=0]7} Zo} ADAE = ADEC 0|22
OADME = ADME + ADAE = ADME + aDEC = ADMC
10(cm?)

BM = CMo|B2 @i} o7} Zof

ADBM = ADCM = 10(cm?)

2. aADBC = 2 x 10 = 20(cm?)




14. BHYPARY ABCD 9] U] Z}t9] o] F 24 A---15---_p
o2 50| gEFGH 9|4 AB = 10 y
AD:15,EG=5%_‘IIH,HF47‘°1% 10 E
Fstofat. \

B C
> =
> Het: 5

B

/D) =90°

(AEB = /CGD = 90°

utm 77+ o 2 /FEH = /FGH = 90°
o7k o] ¥ o 2 /EHG = (EFG = 90°
oEFGH & Atz o]t}

~EG=HF =5

1
LA+/B =180° £C+«D = 180°, §(AA+4B) =90°,

1
5(404—




15. th& 1389 pABCDE AD // BC ¢l S¥Attie|&Zolt};. AC //DE
(DBC =35°d ufj, zx9] 27]=7
A D
35 z
B C E

@ 15° @ 20° ® 25° @ 30° @35°

~&B

AABC 2} ADCB ol A

AB =DC, /ABC = /DCB, B
. AABC = ADCB (SAS &%
. /ACB = /DBC = 35°
AC//DE°|R&

/x = /ACB = 35° (592




